

Pay Estimate Created Date: December 16, 2021

Progress Estimate 5	Number	Contract ID Prime Contractor	210521-G01 Branco Enterprise		ay Period Start Decemb ay Period End Decemb		Original Contract Amount Net Change Order Amoun Current Contract Amount	t (\$16,071.80)			
Approval Date								By User			
December 16, 2021		Generated and Approved (and should be considered Draft) at the Project Office Level by									
December 19, 2021	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by roeged1										
December 20, 2021											
Original Complet	Current Con	pletion Date	Actu	al Completion Date	% o	f Current Contract Amount	Complete				
November 1, 2	2021	Novembe	er 1, 2021				100.00%				
	Contra	ct Informational Da	tes		Milestones						
Date Description	Origina	al Completion Date	Current Comple	tion Date	No Milestones Exist fo	r Contract					
Acceptance Date											
Awarded Date	June 2,	2021	June 2, 2021								
Letting Date	Letting Date May 21, 2021 May 21, 2		May 21, 2021								
Notice to Proceed Da	tice to Proceed Date July 6, 2021 July 6, 2021										
Open to Traffic Date											
Work Began Date											

Contract Total	Pay For Estimate	e No. 5										
			This Es	stimate		Previo	ous		To Date			
Total Posted Items Pay Gross Item Adjustments Incentive Disincentive Liquidated Damage Other Contract Adjustments			<mark>\$2,584</mark> \$0.00 \$0.00 \$0.00	\$2,584.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00			469.10 31.42) 937.68	\$258,869.10 \$52.58 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$258,921.68				
Contract Total	Payable This Est	timate:	\$3,98	4.00								
tems Paid This	Estimate Period											
Project Numbe	er Line Number	Item Code	It	tem Descriptio	on	Unit	Unit Price	Current Ins	talled Qty	Current Install	ed Amount	
J7P3370B 5001 7259903 MISC.PVC pipe for drainage under sidewalk LF \$70.000 20										\$1,400.00		
Project J7P33	70B - Total										\$1,400.00	
Overall - Tota	l .										\$1,400.00	
Contract Adjust	ments This Estir	<u>nate</u>										
	istments Exist on											
<u>.ine Item Adjus</u>	tments This Esti	<u>mate</u>										
Project Lin Number No		escription	Adjustment Type	Other Item Adjustment Type		Com	iments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustme amount	
J7P3370B 032	20 TURF TYPE	TALL FESCUE SODDING			adjustm	ents fo vious p		iantity on all nates. Price	323	\$8.00	\$2,584.00	
Total			·	·							\$2,584.0	



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informat	ion					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J7P3370B	FAS S603(69)	ADA improvements	Various	BATES	at various locations in E	Bates County						
Totals by Job Numbers												
J7P3370B		Item Pay tem Adjustmen	ts Gross Iter	m Pay	This Estimate \$1,400.00 \$2,584.00 \$3,984.00	Previous \$257,469.10 (\$2,531.42) \$254,937.68	To Date \$258,869,10 \$52.58 \$258,921.68					
			nents		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00					



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q Contract	uantities a Project	Category		Item	port Generated date and can differ from the posted amo Description	unt at the Bid	time the Net	Estimate wa Total	as Gene Unit	rated. Total	Unit Price	Total Value POSTED
Nm.CONTRACT	No.	outogory	No.	Code	Description	Quantity	Change Order	Current Quantity	Onit	Posted Approved Qty	Unit i fide	To Date (See report generated date)
210521-G01	J7P3370B	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$6,000.00	\$6,000.00
		0001	0020	2063000	CLASS 3 EXCAVATION	31.00	-2.00	29.00	CUYD	29.00	\$41.00	\$1,189.00
		0001	0030	2079903	MISC.LINEAR GRADING FOR ADA FACILITES	1,382.00	49.00	1,431.00	LF	1,431.00	\$44.00	\$62,964.00
		0001	0040	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	824.00	-96.00	728.00	SQYD	728.00	\$11.00	\$8,008.00
		0001	0050	5021108	CONCRETE PAVEMENT (8 IN. NON-REINF)	119.60	-19.00	100.60	SQYD	100.60	\$63.00	\$6,337.80
		0001	0060	6044011	PIPE COLLAR, TYPE A	2.00	0.00	2.00	EA	2.00	\$490.00	\$980.00
		0001	0070	6081010	CONCRETE CURB RAMP	99.50	-14.00	85.50	SQYD	85.50	\$120.00	\$10,260.00
		0001	0080	6081012	TRUNCATED DOMES	289.00	1.00	290.00	SQFT	290.00	\$34.00	\$9,860.00
		0001	0090	6086004	CONCRETE SIDEWALK, 4 IN.	568.90	-123.20	445.70	SQYD	445.70	\$64.00	\$28,524.80
		0001	0100	6086008	CONCRETE SIDEWALK, 8 IN.	29.00	61.00	90.00	SQYD	90.00	\$80.00	\$7,200.00
		0001	0110	6091052	CURB AND GUTTER TYPE B	18.00	0.00	18.00	LF	18.00	\$47.00	\$846.00
		0001	0120	6099903	MISC.MODIFIED TYPE A GUTTER WITH STEEL PLATE	10.00	-10.00	0.00	LF	0.00	\$960.00	\$0.00
		0001	0130	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	-2.00	0.00	EA	0.00	\$580.00	\$0.00
		0001	0140	6161005	CONSTRUCTION SIGNS	440.00	-128.00	312.00	SQFT	312.00	\$7.00	\$2,184.00
		0001	0150	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	-2.00	0.00	EA	0.00	\$87.00	\$0.00
		0001	0160	6161009	FLAG ASSEMBLY	4.00	-2.00	2.00	EA	2.00	\$29.00	\$58.00
		0001	0170	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	100.00	\$23.00	\$2,300.00
		0001	0180	6161033	DIRECTIONAL INDICATOR BARRICADE	5.00	-5.00	0.00	EA	0.00	\$156.00	\$0.00
		0001	0190	6161040	FLASHING ARROW PANEL	2.00	-2.00	0.00	EA	0.00	\$460.00	\$0.00
		0001	0200	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,000.00	\$8,000.00
		0001	0210	6169902	MISC.ADA COMPLIANT MOVABLE BARRICADE	10.00	2.00	12.00	EA	12.00	\$116.00	\$1,392.00
		0001	0220	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$38,000.00	\$38,000.00
		0001	0230	6200012	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE	11.00	0.00	11.00	LF	11.00	\$18.00	\$198.00
		0001	0240	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	73.00	-5.00	68.00	EA	68.00	\$210.00	\$14,280.00
		0001	0250	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	72.00	0.00	72.00	LF	72.00	\$3.50	\$252.00
		0001	0260	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	9.00	0.00	9.00	EA	9.00	\$17.50	\$157.50
		0001	0270	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,300.00	\$2,300.00
		0001	0280	7250412	12 IN. PIPE GROUP C	30.00	-10.00	20.00	LF	20.00	\$82.00	\$1,640.00
		0001	0290	7250415	15 IN. PIPE GROUP C	40.00	0.00	40.00	LF	40.00	\$85.00	\$3,400.00
		0001	0300	7250418	18 IN. PIPE GROUP C	22.00	0.00	22.00	LF	22.00	\$90.00	\$1,980.00
		0001	0310	7261012	12 IN. PIPE GROUP A	12.00	0.00	12.00	LF	12.00	\$82.00	\$984.00
		0001	0320	8031000A	TURF TYPE TALL FESCUE SODDING	637.00	323.00	960.00	SQYD	960.00	\$8.00	\$7,680.00
		0001	0330	8061006	ALTERNATE DITCH CHECK	136.00	0.00	136.00	LF	136.00	\$18.00	\$2,448.00
		0001	0340	8061016	SEDIMENT REMOVAL	19.00	0.00	19.00	CUYD	19.00	\$1.00	\$19.00
		0001	0350	8061019	SILT FENCE	200.00	0.00	200.00	LF	200.00	\$3.50	\$700.00
		0040	0360	9031010	CONCRETE FOOTINGS, EMBEDDED	4.60	0.00	4.60	CUYD	4.60	\$1,350.00	\$6,210.00
		0040	0370	9031280	2.5 IN. PSST POST - 12 GA.	528.00	0.00	528.00	LF	528.00	\$12.00	\$6,336.00
		0040	0380	0380 9031281 POST ANCHOR FOR 2.5 IN. PSST - 7 GA.			0.00	99.00	LF	99.00	\$60.00	\$5,940.00
		0040	0390	9035069A	SHF-FLAT SHEET FLUORESCENT	0.00	421.00	SQFT	421.00	\$21.00	\$8,841.00	
		0001	5001	7259903	MISC.PVC pipe for drainage under sidewalk	0.00	20.00	20.00	LF	20.00	\$70.00	\$1,400.00
	Project J7	P3370B - To	otal Value	e Posted to I	Date as of Report Generated Date							\$258,869.10
210521-G01 Ove	rall - Total V	/alue Poste	ed to Date	as of Repo	t Generated Date							\$258,869.10



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Proiect: J7P	3370R

Line Number	ltem Code	Description		DWR Approval Date		Units	Location		Offset/ Distance	Offset/ Distance	Comments
5001	7259903	MISC. METAL PIPE	12/15/21	12/16/21	20.00	LF	Lt. of Route A; Hume, MO	148+13			

The information below this line are details for Construction Signs (if applicable). No Data Available



Dec 29, 2021

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J7P3370B	0030	MISC.	Overrun	Type Overrun	2	Nov 2,	SYSTEM	(\$2,164.80)	
		GRADING			4	2021 Dec 1, 2021	SYSTEM	\$2,164.80	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',44.00000 - 44.00000, 'is
				Overrun - T	otal			\$0.00	applied (if non-zero).
			Overrun - Tota					\$0.00	
	0030 -	Total						\$0.00	
	0040	TYPE 1 AGGREGATE	Price FUEL		1	Oct 15, 2021	SYSTEM	\$6.85	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		FOR BASE (4 IN. THICK)			2	Nov 2, 2021	SYSTEM	\$26.85	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Dec 1, 2021	SYSTEM	\$0.16	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$33.86	
			Price FUEL - T	Total				\$33.86	
	0040 -							\$33.86	
	0050	CONCRETE PAVEMENT (8 IN. NON-REINF)	Material		1	Oct 18, 2021	SYSTEM	(\$1,953.00)	
		,		T -4-1	2	Nov 2, 2021	SYSTEM	(\$6,337.80)	
			Metaviel Tete	- Total				(\$8,290.80)	
			Material - Tota MaterialCredit		2	Nov 2, 2021	SYSTEM	(\$8,290.80) \$1,953.00	
					3	Nov 16, 2021	SYSTEM	\$6,337.80	
				- Total				\$8,290.80	
			MaterialCredit	- Total				\$8,290.80	
			Price FUEL		1	Oct 15, 2021	SYSTEM	\$5.77	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2	Nov 2, 2021	SYSTEM	\$12.95	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$18.72	
			Price FUEL - T	otal				\$18.72	
	0050 -							\$18.72	
	0060	PIPE COLLAR, TYPE A	Material		2	Nov 2, 2021	SYSTEM	(\$980.00)	
					3	Nov 16, 2021	SYSTEM	(\$980.00)	
				- Total				(\$1,960.00)	
			Material - Tota					(\$1,960.00)	
			MaterialCredit		3	Nov 16, 2021	SYSTEM	\$980.00	
				- Total	4	Dec 1, 2021	SYSTEM	\$980.00 \$1,960.00	
			MaterialCredit					\$1,960.00	
	0060 -	Total	materialoreult	Total				\$1,500.00	
	0070	CONCRETE CURB RAMP	Material		2	Nov 2, 2021	SYSTEM	(\$9,900.00)	
				- Total				(\$9,900.00)	
			Material - Tota					(\$9,900.00)	
			MaterialCredit		3	Nov 16, 2021	SYSTEM	\$9,900.00	
				- Total				\$9,900.00	
			MaterialCredit	- Total				\$9,900.00	
	0070 -	Total						\$0.00	



Dec 29, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J7P3370B	0090	CONCRETE SIDEWALK, 4	Material		1	Oct 18, 2021	SYSTEM	(\$4,550.40)		
		IN.			2	Nov 2, 2021	SYSTEM	(\$28,524.80)		
				- Total				(\$33,075.20)		
			Material - Tota	I				(\$33,075.20)		
			MaterialCredit		2	Nov 2, 2021	SYSTEM	\$4,550.40		
					3	Nov 16, 2021	SYSTEM	\$28,524.80		
				- Total				\$33,075.20		
			MaterialCredit	- Total				\$33,075.20		
	0090 -	Total						\$0.00		
	0100	CONCRETE SIDEWALK, 8	Material		1	Oct 18, 2021	SYSTEM	(\$3,624.00)		
		IN.			2	Nov 2, 2021	SYSTEM	(\$7,200.00)		
				- Total				(\$10,824.00)		
			Material - Tota	I				(\$10,824.00)		
			MaterialCredit		2	Nov 2, 2021	SYSTEM	\$3,624.00		
					3	Nov 16, 2021	SYSTEM	\$7,200.00		
				- Total				\$10,824.00		
			MaterialCredit	- Total				\$10,824.00		
			Overrun	Overrun	Overrun	Overrun	1	Oct 18, 2021	SYSTEM	\$1,304.00
					1	Oct 18, 2021	SYSTEM	(\$1,304.00)		
					2	Nov 2, 2021	SYSTEM	(\$1,304.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	
					2	Nov 2, 2021	SYSTEM	\$4,880.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) overridding Payment Estimate Exception 22 on the current Payment Estimate. Material Insufficiency Quantity 90.000; Overrun Quantity Balance 77.30.	
					2	Nov 2, 2021	SYSTEM	\$1,072.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user deweyb overridding Payment Estimate Exception 22 on the current Payment Estimate.	
					2	Nov 2, 2021	SYSTEM	\$4,104.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user deweyb overridding Payment Estimate Exception 22 on the current Payment Estimate.	
					2	Nov 2, 2021	SYSTEM	\$2,024.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user deweyb overridding Payment Estimate Exception 22 on the current Payment Estimate.	
					2	Nov 2, 2021	SYSTEM	\$1,304.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user deweyb overridding Payment Estimate Exception 22 on the current Payment Estimate.	
					2	Nov 2, 2021	SYSTEM	(\$3,576.00)		
					3	Nov 16, 2021	SYSTEM	(\$13,384.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	
					4	Dec 1, 2021	SYSTEM	\$4,880.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',80.00000 - 80.00000, 'is applied (if non-zero).	
				Overrun - T	otal			\$0.00		
			Overrun - Tota					\$0.00		
	0100 -	Total						\$0.00		
	0110	CURB AND GUTTER TYPE	Material		2	Nov 2, 2021	SYSTEM	(\$846.00)		
		В		- Total				(\$846.00)		



Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
				Туре	rtamber	Duto	Dy		
J7P3370B	0110	CURB AND GUTTER TYPE	Material - Tota					(\$846.00)	
		В	MaterialCredit		3	Nov 16, 2021	SYSTEM	\$846.00	
				- Total				\$846.00	
			MaterialCredit	- Total				\$846.00	
	0110 -							\$0.00	
	0230	PREF THERMO PAVMT MARKING, 12	Material		2	Nov 2, 2021	SYSTEM	(\$198.00)	
		IN WHITE			3	Nov 16, 2021	SYSTEM	(\$198.00)	
				- Total				(\$396.00)	
			Material - Tota	l				(\$396.00)	
			MaterialCredit		3	Nov 16, 2021	SYSTEM	\$198.00	
					4	Dec 1, 2021	SYSTEM	\$198.00	
				- Total				\$396.00	
			MaterialCredit	- Total				\$396.00	
	0230 -							\$0.00	
	0240	PREF THERMO PVMT MARK, 30" WHT MIDBL	Material		2	Nov 2, 2021	SYSTEM	(\$14,280.00)	
					3	Nov 16, 2021	SYSTEM	(\$14,280.00)	
				- Total				(\$28,560.00)	
			Material - Tota	l				(\$28,560.00)	
			MaterialCredit		3	Nov 16, 2021	SYSTEM	\$14,280.00	
					4	Dec 1, 2021	SYSTEM	\$14,280.00	
				- Total				\$28,560.00	
			MaterialCredit	- Total				\$28,560.00	
	0240 -							\$0.00	
	0250	6 IN. WHITE HIGH BUILD WATERBORNE	Material		2	Nov 2, 2021	SYSTEM	(\$252.00)	
		PAINT			3	Nov 16, 2021	SYSTEM	(\$252.00)	
				- Total				(\$504.00)	
			Material - Tota	I				(\$504.00)	
			MaterialCredit		3	Nov 16, 2021	SYSTEM	\$252.00	
					4	Dec 1, 2021	SYSTEM	\$252.00	
				- Total				\$504.00	
			MaterialCredit	- Total				\$504.00	
	0250 -	Total				_		\$0.00	
	0310	12 IN. PIPE GROUP A	Material		3	Nov 16, 2021	SYSTEM	\$984.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user deweyb overridding Payment Estimate Exception 9 on the current Payment Estimate.
					3	Nov 16, 2021	SYSTEM	(\$984.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0310 -	Total						\$0.00	
	0320	TURF TYPE TALL FESCUE	Material		2	Nov 2, 2021	SYSTEM	(\$720.00)	
		SODDING			3	Nov 16, 2021	SYSTEM	(\$7,680.00)	
				- Total				(\$8,400.00)	

Dec 29, 2021

8



Dec 29, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3370B	0320	TURF TYPE	Material - Tota					(\$8,400.00)	
		TALL FESCUE SODDING	MaterialCredit		3	Nov 16, 2021	SYSTEM	\$720.00	
					4	Dec 1, 2021	SYSTEM	\$7,680.00	
				- Total				\$8,400.00	
			MaterialCredit	- Total				\$8,400.00	
			Overrun	Overrun	3	Nov 16, 2021	SYSTEM	\$2,584.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 13 on the current Payment Estimate. Material Insufficiency Quantity 960.000; Overrun Quantity Balance 323.00.
					3	Nov 16, 2021	SYSTEM	(\$2,584.00)	
					4	Dec 1, 2021	SYSTEM	(\$2,584.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					5	Dec 16, 2021	SYSTEM	\$2,584.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',8.00000 - 8.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0320 -	Total						\$0.00	
	0360	CONCRETE FOOTINGS, EMBEDDED	Material		1	Oct 18, 2021	SYSTEM	\$2,268.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user deweyb overridding Payment Estimate Exception 11 on the current Payment Estimate.
					1	Oct 18, 2021	SYSTEM	(\$2,268.00)	
					2	Nov 2, 2021	SYSTEM	\$6,210.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user deweyb overridding Payment Estimate Exception 17 on the current Payment Estimate.
					2	Nov 2, 2021	SYSTEM	(\$6,210.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0360 -					_		\$0.00	
	0370	2.5 IN. PSST POST - 12 GA.	Material		1	Oct 18, 2021	SYSTEM	\$2,304.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user deweyb overridding Payment Estimate Exception 12 on the current Payment Estimate.
					1	Oct 18, 2021	SYSTEM	(\$2,304.00)	
					2	Nov 2, 2021	SYSTEM	\$6,336.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user deweyb overridding Payment Estimate Exception 18 on the current Payment Estimate.
					2	Nov 2, 2021	SYSTEM	(\$6,336.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0370 -							\$0.00	
	0380	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material		1	Oct 18, 2021	SYSTEM	\$2,160.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user deweyb overridding Payment Estimate Exception 13 on the current Payment Estimate.
					1	Oct 18, 2021	SYSTEM	(\$2,160.00)	
					2	Nov 2, 2021	SYSTEM	\$5,940.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user deweyb overridding Payment Estimate Exception 19 on the current Payment Estimate.
					2	Nov 2, 2021	SYSTEM	(\$5,940.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0380 -							\$0.00	
	0390	SHF-FLAT SHEET	Material		1	Oct 18, 2021	SYSTEM	\$3,213.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user deweyb overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3370B	0390	FLUORESCENT	Material						Estimate Exception 14 on the current Payment Estimate.
					1	Oct 18, 2021	SYSTEM	(\$3,213.00)	
					2	Nov 2, 2021	SYSTEM	\$8,841.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user deweyb overridding Payment Estimate Exception 20 on the current Payment Estimate.
					2	Nov 2, 2021	SYSTEM	(\$8,841.00)	
					3	Nov 16, 2021	SYSTEM	\$8,841.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user deweyb overridding Payment Estimate Exception 11 on the current Payment Estimate.
					3	Nov 16, 2021	SYSTEM	(\$8,841.00)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0390 -	Total						\$0.00	
J7P3370B - Total								\$52.58	
Overall - Total						\$52.58			